Mitchell

Acc 363

Final Exam








Name ________________________

This is an open book test.  You may use your text but not your notes, quizzes, group or individual assignments.  Due to the length of the test you should feel free to take a break as needed.  My expectation is that during a break you will not share information with others in your class regarding the test.  This is an individual test; you may not confer or work with your classmates.

1. Notes or accounts receivables that result from sales transactions are often called

a. sales receivables.

b. non-trade receivables.

c. trade receivables.

d. merchandise receivables.

2. Three accounting issues associated with accounts receivable are

a. depreciating, returns, and valuing.

b. depreciating, valuing, and collecting.

c. recognizing, valuing, and disposing.

d. accrual, bad debts, and disposing.

A customer charges a treadmill at John’s Sport Shop.  The price is $2,000 and the financing charge is 18% per annum if the bill is not paid in 30 days.  The customer fails to pay the bill within 30 days and a finance charge is added to the customer’s account.

3. What is the amount of the finance charge?

a. $60.00.

b. $30.00.

c. $360.00.

d. $12.00.

4. A 60-day note receivable dated June 13 has a maturity date of

a. August 13.

b. August 12.

c. August 11.

d. August 10.

5. The maturity value of a $10,000, 9%, 36-day note receivable dated July 3 is

a. $10,000.

b. $11,000.

c. $10,900.

d. $10,090.
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6. A company purchased land for $60,000 cash.  Real estate brokers’ commission was $5,000 and $7,000 was spent for demolishing an old building on the land before construction of a new building could start.  Under the cost principle, the cost of land would be recorded at

a. $67,000.

b. $60,000.

c. $65,000.

d. $72,000.

7. Which of the following assets does not decline in service potential over the course of its useful life?

a. Equipment

b. Furnishings

c. Land

d. Fixtures

8. The balance in the Accumulated Depreciation account represents the

a. cash fund to be used to replace plant assets.

b. amount to be deducted from the cost of the plant assets to arrive at its fair market value.

c. amount charged to expense in the current period.

d. amount charged to expense since the acquisition of the plant asset.

9. Which one of the following items is not a consideration when recording periodic depreciation expense on plant assets?

a. Salvage value

b. Estimated useful life

c. Cash needed to replace the plant asset

d. Cost

10. Recording depreciation each period is necessary in accordance with the

a. going concern principle.

b. cost principle.

c. matching principle.

d. asset valuation principle.

11. Equipment was purchased for $20,000.  Freight charges amounted to $700 and there was a cost of $2,000 for building a foundation and installing the equipment.  It is estimated that the equipment will have a $3,000 salvage value at the end of its 5-year useful life.  Depreciation expense each year using the straight-line method will be

a. $4,540.

b. $3,940.

c. $3,460.

d. $3,400.
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12. A company purchased office equipment for $10,000 and estimated a salvage value of $2,000 at the end of its 5-year useful life.  The constant percentage to be applied against book value each year if the double-declining-balance method is used is

a. 20%.

b. 25%.

c. 40%.

d. 5%.

13. The declining-balance method of depreciation produces

a. a decreasing depreciation expense each period.

b. an increasing depreciation expense each period.

c. a declining percentage rate each period.

d. a constant amount of depreciation expense each period.

14. Which of the following is not performed by the payroll department?

a. Preparation of payroll checks

b. Maintaining payroll records

c. Signing of payroll checks

d. Preparation of payroll tax returns

15. The payroll is paid by the

a. personnel department.

b. payroll department

c. cashier.

d. treasurer’s department.

16. Assuming a FICA tax rate of 8% on the first $65,000 in wages, and a federal income tax rate of 20% on all wages, what would be an employee’s net pay for the year if he earned $80,000?

a. $74,800

b. $57,600

c. $64,000

d. $58,800

17. The journal entry to record the payroll for a period will include a credit to Wages and Salaries Payable for the gross

a. amount less all payroll deductions.

b. amount of all paychecks issued.

c. pay less taxes payable.

d. pay less voluntary deductions.

18. The tax that is paid equally by the employer and employee is the

a. federal income tax.

b. federal unemployment tax.

c. state unemployment tax.

d. FICA tax.
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19. A factor which distinguishes the corporate form of organization from a sole proprietorship or partnership is that

a. a corporation is organized for the purpose of making a profit.

b. a corporation is subject to numerous federal and state government regulations.

c. a corporation is an accounting economic entity.

d. a corporation’s temporary accounts are closed at the end of the accounting period.

20. Which one of the following would not be considered an advantage of the corporate form of organization?

a. Limited liability of owners

b. Separate legal existence

c. Continuous life

d. Government regulation

21. Bob Trent has invested $600,000 in a privately held family corporation.  The corporation does not do well and must declare bankruptcy.  What amount does Trent stand to lose?

a. Up to his total investment of $600,000.

b. Zero.

c. The $600,000 plus any personal assets the creditors demand.

d. $300,000.

22. The officer that is generally responsible for maintaining the cash position of the corporation is the

a. controller.

b. treasurer.

c. cashier.

d. internal auditor.

23. A corporation has the following account balances: Common stock, $1 par value, $30,000; Paid-In Capital in Excess of Par Value $900,000.  Based on this information, the

a. legal capital is $930,000.

b. number of shares issued are 30,000.

c. number of shares outstanding are 930,000.

d. average price per share issued is $3.10.

24. If common stock is issued for an amount greater than par value, the excess should be credited to

a. Cash.

b. Retained Earnings.

c. Paid-in Capital in Excess of Par Value.

d. Legal Capital.

25. A company would not acquire treasury stock

a. In order to reissue shares to officers.

b. As an asset investment.

c. In order to increase trading of the company’s stock.

d. To have additional shares available to use in acquisitions of other companies.
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Chase County Bank agrees to lend Acme brick Company $50,000 on January 1.  Acme Brick Company signs a $50,000, 8%, 9-month note.

26. The entry made by Acme Brick Company on January to record the proceeds and issuance of the note is

a. Interest Expense…………………
     
3,000

Cash………………………………

47,000



Notes Payable…………..



50,000

b. Cash………………………………

50.000

Notes Payable…………..



50,000

      c.  
Cash ……………………………...

50,000


Interest Expense…………………

  3,000



Notes Payable…………..



53,000

      d.   Cash………………………………

50,000


Interest Expense…………………

  3,000



Notes Payable…………..  



50,000



Interest Payable…………



  3,000

27. What entry will Acme Brick Company make to pay off the note and interest at maturity assuming that interest has been accrued to September 30?

a. Notes Payable……………………

53,000

Cash………………………



53,000

      b.   Notes Payable……………………

50,000


Interest Payable………………….

  3,000



Cash………………………



53,000

      c.   Interest Expense…………………

50,000


Notes Payable……………………

  3,000



Cash……………………..



53,000

      d.   Interest Payable…………………

  2,000


Notes Payable…………………..

50,000


Interest Expense………………..

  1,000



Cash……………………..



53,000

On October 1, Nick’s Carpet Service borrows $75,000 from National Bank on a 3- month, $75,000, 8% note.

28. What entry must Nick’s Carpet Service make on December 31 before financial statements are prepared?

a. Interest Payable………………….

  1,500

Interest Expense…………



  1,500

      b.   Interest Expense…………………
 
  6,000



Interest Payable………….



  6,000

      c.
Interest Expense………………….

  1,500



Interest Payable………….



  1,500

      d.   Interest Expense………………….

  1,500



Notes Payable……………



  1,500
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29. Which one of the following is not a characteristic generally evaluated in analyzing financial statements?

a. Liquidity

b. Profitability

c. Marketability

d. Solvency

30. Short-term creditors are usually most interested in evaluating

a. solvency.

b. liquidity.

c. marketability.

d. profitability.

31. Long-term creditors are usually most interested in evaluating

a. liquidity and solvency.

b. Solvency and marketability.

c. liquidity and profitability.

d. Profitability and solvency.

32. Horizontal analysis is also known as

a. linear analysis.

b. vertical analysis.

c. trend analysis.

d. common size analysis.

33. Vertical analysis is also known as

a. perpendicular analysis.

b. common size analysis.

c. trend analysis.

d. straight-line analysis.

Waters Department Store had net credit sales of $12,000,000 and cost of goods sold of $9,000,000 for the year.  The average inventory for the year amounted to $2,000,000

34. The average number of days to sell the inventory during the year was

a. 122 days.

b. 81 days.

c. 61 days.

d. 35 days.

35. A typical investment to house excess cash until needed is

a. stocks of companies in a related industry.

b. debt securities.

c. low-risk, highly liquid securities.

d. stock securities.
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36. King Corporation makes a temporary investment in 100 shares of Renfro Company’s common stock.  The stock is purchased for $50 a share plus brokerage fees of $300.  The entry for the purchase is:

a. Debt Investments………………………………    5,000

Cash……………………………………


5,000

      b. 
Stock Investments…………………………….
     5,300



Cash……………………………………


5,300

      c.
Stock Investments…………………………….
     5,000


Brokerage Fee Expense………………………       300



Cash……………………………………


5,300

      d.   Stock Investments…………………………….
     5,000




Cash……………………………………


5,000

37. If a contingent liability is reasonably estimable and it is reasonable possible that the contingency will occur, the contingent liability

a. should be recorded in the accounts.

b. should be disclosed in the notes accompanying the financial statements.

c. should not be recorded or disclosed in the notes until the contingency actually happens.

d. must be paid for the amount estimated.

38. The primary purpose of the statement of cash flows is to

a. provide information about the investing and financing activities during a period.

b. prove that revenues exceed expenses if there is a net income.

c. provides information about the cash receipts and cash payments during a period.

d. facilitate banking relationships.

39. The category that is generally considered to be the best measure of a company’s ability to continue as a going concern is

a. cash flows from operating activities.

b. cash flows from investing activities.

c. cash flows from financing activities.

d. usually different from year to year.

40. If $3,000 is put in a savings account paying interest of 4% compounded annually, what amount will be in the account at the end of 5 years?

a. $2,465.79

b. $3,600.00

c. $3,646.53

d. $3,649.95
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41. Roark Company purchased equipment on January 1, 1999 for $80,000.  It is estimated that the equipment will have a $5,000 salvage value at the end of its 5-year useful life.  It is also estimated that the equipment will produce 100,000 units over its 5-year life.

INSTRUCTIONS

Answer the following independent questions.

1.  
Compute the amount of depreciation expense for the year ended December 31,1999, using the straight-line method of depreciation.

2. If 16,000 units of product are produced in 1999 and 24,000 units are produced       in 2000, what is the book value of the equipment at December 31, 2000?  The  company uses the units-of-activity depreciation method.

3. If the company uses the double-declining balance method of depreciation, what   is the balance of the Accumulated Depreciation—Equipment account at December 31, 2001?

42. Information concerning the exchange of assets with Myers Equipment by two companies is as following:

 

 Cox


 Troy

                                      
 
        Company

         Company
Cost



          $32,000

          $25,000

Accumulated depreciation           
            12,000


13,000

Fair market of old equipment
  
21,000


10,000


Cash paid




  6,000


14,000

     INSTRUCTIONS

Journalize the exchange on the books of (1) Cox and (2) Troy, assuming similar assets were obtained in the exchange.
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	Date
	Explanation
	Post. Ref.
	Debit
	Credit

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	


43. (a)   Zinn Company purchased equipment in 1994 for $60,000 and estimated a $6,000   salvage value at the end of the equipment’s 10-year useful life.  At December 31, 2000, there was $37,800 in the Accumulated Depreciation account for this equipment using the straight-line method of depreciation.  On March 31, 2001, the equipment was sold for $16,000

Prepare the appropriate journal entries to remove the equipment from the books of Zinn Company on March 31, 2001.

	Date
	Explanation
	Post. Ref.
	Debit
	Credit

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	


(b) Herbert Company sold a delivery truck for $16,000.  The delivery truck originally cost $30,000 in 1997 and $6,000 was spent on a major overhaul in 2000 (charged to Delivery Truck account).  Accumulated Depreciation on the delivery truck to the date of disposal was $20,000.

Prepare the appropriate journal entry to record the disposition of the delivery truck.
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	Date
	Explanation
	Post. Ref.
	Debit
	Credit

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	


(c) Dolan Company sold office equipment that had a book value of $6,000 for $8,000.  The office equipment originally cost $20,000 and it is estimated that it would cost $25,000 to replace the office equipment.

Prepare the appropriate journal entry to record the disposition of the office equipment.

	Date
	Explanation
	Post. Ref.
	Debit
	Credit

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	


44. The Eller Sign Company uses the allowance method in accounting for uncollectible accounts.  Past experience indicates that 1.5% of net credit sales will eventually be uncollectible.  Selected account balances at December 31, 2000, and December 31, 2001, appear below:

 12/31/00

 12/31/01
 Net Credit Sales



$400,000
        
$600,000

 Accounts Receivable


    75,000

  100,000

 Allowance for Doubtful Accounts 

      5,000

             ?

 INSTRUCTIONS

a. Record the following events in 2001.
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Aug. 10   Determined that the account of Barb Kern for $1,000 is uncollectible.

Sept. 12  Determined that the account of Jim Mann for $3,00 is uncollectible.

Oct. 10   Received a check for $550 as payment on account from Barb Kern,  whose account had previously been written off as uncollectible.  She indicated the remainder of her account would be paid in November.



Nov. 15  Received a check for $450 from Barb Kern as payment on her account.

b. Prepare the adjusting journal entry to record the bad debt provision for the year ended December 31, 2001.

c. What is the balance of Allowance for Doubtful Accounts at December 31, 2001.

	Date
	Explanation
	Post. Ref.
	Debit
	Credit

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	


